SMAEE BRAITETE (£ - FKEEM) FRRERIUBUSFEER

=Rl 17 = E %

1| A

2 | K

3K

4 | K

5| &

6  *

7 | B F2LE£HLar A MRE (35 - £8)

8 | A

9 | X

10 | K

11| K o

12 | £ FREATH (HHK)

13 £

14 | H

15| A

16 | K

17 | K

18 K

19 £

20 £

21 | H

22 | A EHREREE (2 - 3FHFEE. 15£8)

23 | K |EHRERREE (2 - 3FEREE. 1528)

24 | K

25 | K EHRERED (2 - 3FEHREE. 1528)

26 | & EHERER (2 - 3FEFER)

27 | £ E2@eHEdEs (3F - £8)

28 | H

29 | A BF REEE - LT EEE XEERXTRER (B HERHE 2O=WhITES—
L G P -
K |FEIHRABRER(EOQO®) BER
=




